<id extension="1234567890123456"
root="1.2.392.200119.6.102" />
<name>@Z A MH</name>
</representedOrganization>
</assignedAuthor>
</author>

- <entry>
- <observation classCode="0BS" moodCode="EVN"

negationind="false">
<code code="9M011000000000001" displayName="&&"
/>
<statusCode code="completed" />
<value xsi:type="PQ" value="176.6" unit="cm" />
</observation>
</entry>

- <entry>
- <observation classCode="0BS" moodCode="EVN"

negationind="false">
<code code="9M021000000000001" displayName="{kE"
/>
<statusCode code="completed" />
<value xsi:type="PQ" value="75.0" unit="kg" />
</observation>
</entry>

- <entry>
- <observation classCode="0BS" moodCode="EVN"

negationind="false">
<code code="9M031000000000001" displayName="BMI"
/>
<statusCode code="completed" />
<value xsi:type="PQ" value="25.5" unit="kg/m?2" />
<interpretationCode code="N" />
</observation>
</entry>

- <entry>
- <observation classCode="0BS" moodCode="EVN"

negationind="false">
<code code="9M041000000000001" displayName="f&EH"
/>
<statusCode code="completed" />
<value xsi:type="PQ" value="85.5" unit="cm" />
</observation>
</entry>

- <entry>
- <observation classCode="0BS" moodCode="EVN"

negationind="false">
<code code="010100035" displayName="B{kZEHR" />

<statusCode code="completed" />
<value xsi:type="CE" code="001" displayName="R & R4
L,ll />
<interpretationCode code="N" />
</observation>
</entry>

- <entry>
- <observation classCode="0BS" moodCode="EVN"

negationind="false">
<code code="9A751000000000001" displayName="M1F

(s />
<statusCode code="completed" />
<value xsi:type="PQ" value="90" unit="mmHg" />
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